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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. All questions carry equal marks.
3. Attempt any five out of eight questions.

4 Answers may be written either in English or Hindi;
but the same medium should be used throughout the
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. (a) Draw the diagram of a firm making normal profit
under monopolistic competition.
When will {irm able to make abnormal profit and

why firms usually make normal profit? (9)

(b) What 1s the cost that socicty has to bear because
of monopoly? (0)
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2. (a) Explain determination of short run and long run
equilibrium of firm under monopolistic conpetition?
) (8)
(b) Explain the various co-operative and competitive
behaviour of oligopolistic firms. (7)
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3. () What is market failure and under wh 9

there is a situation of market failurc

P
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(b) How equilibrium is obtained 1N ca

2£00ds?
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4. (a) What are the features of public goods? HOYV arC;
the public goods responsible for market failure:
Determine the efficient amount of public good that
should be produced? (10)
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(b) How equilibrium is obtained in case of
Externalities. (5)
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5. (a) What is the reason behind supply of laboyy ¢ be
" packward bending? Explain by uging Suitab]
c

diagram?
9)

(6)

(b) Explain the concept of economic rent.

?
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\L‘\ Pxplan the lh\\\\\ ol COMpParative cost ndvant
stadvantape

i the context of nternationg| Trnde. (7)
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Desertbe tanttt and s impact on consumer surplus,
producer surplus, government revenue and total sui'plus
with a suttable diagram. What are the arguments for
free trade? (15)
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Write Short Notes on Any three: (5%3)
(a) Nash Equilibrium
(b) Lemmons Problem
(¢) Coase Theorem

A

(d) Negative Externalitics
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